Solution for 3.4 Pocket Monkeys (Answer = BOOMERANG)

The puzzle is set up like a traditional pokemon battle. For each set of two numbers, the first number refers to a
particular pokemon, the second a pokemon move known as a TM. Then you fight the two teams of pokemon
against each other. Like the game, while the bottom team fights from left to right, the top fights from right to left.
In each battle, one pokemon will be vastly superior because of their attack types, hence you can work out the
expected winner. Keeping track of the winners, and then taking all the first letters, you get BOOMERANG.

57 Primeape (FIGHTING), 1 Mega Punch (NORMAL)
VS.

12 Butterfree (BUG, FLYING), 46 Psywave (PSYCHIC)
BUTTERFREE wins (Fighting is susceptible to Psychic)

138 Omanyte (ROCK, WATER), 14 Blizzard (ICE)

vs.

12 Butterfree (BUG, FLYING), 46 Psywave (PSYCHIC)
OMANYTE wins (Flying is susceptible to Ice)

138 Omanyte (ROCK, WATER), 14 Blizzard (ICE)

VS.

84 Doduo (NORMAL, FLYING), 43 Sky Attack (FLYING)
OMANYTE wins (Flying is susceptible to Ice)

138 Omanyte (ROCK, WATER), 14 Blizzard (ICE)

VS.

151 Mew (PSYCHIC), 21 Mega Drain (GRASS)

MEW wins (Both Rock and Water are susceptible to Grass)

23 Ekans (POISON), 6 Toxic (POISON)

VS.

151 Mew (PSYCHIC), 21 Mega Drain (GRASS)
EKANS wins (Grass attacks aren't effective on Poison)

23 Ekans (POISON), 6 Toxic (POISON)

VS.

112 Rhydon (GROUND, ROCK), 26 Earthquake (GROUND)
RHYDON wins (Poison is susceptible to Ground)

144 Articuno (ICE, FLYING), 13 Ice Beam (ICE)

VS.

112 Rhydon (GROUND, ROCK), 26 Earthquake (GROUND)
ARTICUNO wins (Ground is susceptible to Ice)

144 Articuno (ICE, FLYING), 13 Ice Beam (ICE)
VS.

38 Ninetales (FIRE), 38 Fire Blast (FIRE)
NINETALES wins (Ice is susceptible to Fire)

55 Golduck (WATER), 12 Water Gun (WATER)
VS.

38 Ninetales (FIRE), 38 Fire Blast (FIRE)
GOLDUCK wins (Fire is susceptible to Water)
Solution kindly provided by Corey Plover.



